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6.7 Dilations Worksheet / Name

State whether a dilation with the glven scale factor is a reduction or an en?gement ( E )
1.k=3 >4 2.k=L 3k—5 4.k=093
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Determine whether the dilation from Figure A to Figure B is a reduction or an enlargement. Then find its scale
factor.
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Point A is a vertex of a polygon. Point R is the image of A after the dilation. Find the scale factor of the dilation.
9.A(3,4)and R (9, 12) 10.A(9,12)and R (6, 8) t 11.A(-2,-3) and R (10, -15)
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A line segment has the given endpoints. Use the scale factor to write the ordered pairs after the dilation.
12.A(1,1),B(3,1),and k=2 13.A(4,4),B(8,12),and k=% 14, A(0, 0), B(-3, 2),and k=5
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Dilations Practice !
Name, K - \{

1- With the points (-4, -2) (1,-3) (2, -5) (-1, 7). SO
3

a- Write the rule if the scale factor of dilation i
(X)) —> (3%, 3Y)

b- What are the new points

EEEARRNEEL) (6.-15)  (-3,a1)

pd
- Enlarged\; or Shrunk

2- With the points ( 8, 4) (-6, -6) (-10, 12) (2, -4). O
1/2

a- Write the rule if the scale factor of dilation i
S - i ; \J
()((\0 —7 ( /&,X 7 /51 />
b- What are the new points

(1,2) (3D (56)  (L-2)

c- Enlarged r‘Shr‘unk\,¢

3- (2, 3), (-3, 2), and (2, -2) is going to be enlarged by a scale factor of@

a- What are the new coordinates of

the triangle?

(812)  (12.8) (2-8)  — i\
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b- Graph the new friangle.

C-  Arethe two pictures on the graph@: congruent? Explain_
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